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B C :3.04g/cm®, :3900cm?/g
S1 :1.76g/cm®, :21.2
2. S2 :1.81g/cm®, 127.7
-1 S3 :1.38g/cm®, :35.3
CA :CaCl,, :2.15g/cm?, 75
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w/C m? kg/m? CaCl,
C/ Q) W C S (Cx<wt )
S1 0.273 139.7 190 136 1760 0,2.0,3.0,4.0
W C/(W+w) S2 0.323 113.5 | 227 | 200 | 1809 0,1.5,3.0
S3 0.322 160.0 | 384 240 1381 0,1.5,3.0
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V=035 TR RE SRR (2011, 3)
-3
CaCl,
0.0 () 1.5 2.0 3.0 4.0
( )
(KN/m?) (KN/m?) (KN/m?) (KN/m?) (kN/m?)
s1 7 1960 | 1.0 2219 | 1.13 | 2363 | 1.21 | 2421 | 1.24
(4.2 )| 28 3127 | 1.0 3588 | 1.15 | 3818 | 1.22 | 3962 | 1.27
S2 7 937 1.0 | 1556 | 1.66 1787 | 1.91
(44.9 ) | 28 1888 | 1.0 | 2147 | 1.14 2550 | 1.35
S3 7 303 1.0 490 | 1.62 620 2.05
(71.4 ) | 28 578 1.0 810 | 1.40 1023 | 1.77
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5000 y = 213.06x + 3144.4
= I R? = 0.9925
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3000
751m 7 (0.63) (0.71) (0.75) (0.77)
28 2000 ¢ y = 119.34x + 1972.2
Ca2+ 1000 ¢ 2 2s R? = 0.9834
2+ |
Ca 0
0 1 2 3 4
CacCl,
-2 caCl s1
1/20 ’ G
4000 4‘ o 7 (@) 28 ‘
I y = 220.83x + 1863.6
28 7 o 3000 |- R? = 0.9846
N
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S1 -2 S2 y = 28337x + 10014
-3 S3 -4 1000 &7y R? = 0.9347
+ 28
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0.0 1.0 2.0 30 40
3 7 28 CaCl,
-3 caCl, (52)
2000 1 O 7 28 |
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28
~ 1500
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500
( y = 105.66x + 312.18
3 pp.26 32 2007.10 (0.52) R? = 09891
pp.313 330 2006.7 0
0 1 2 3 4
7 63 CaCl,
pp.65 72 1958.3 -4 caCl, (S3)
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